The following repeating decimal is
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Find each probability as a fraction

Carrots | Peas | Beans | Corn | Total

Adult 14 8 9 20 51

Child 19 2 4 25 50

A1) 13 Total | 33 10 13(0% 45 | 101

P(Carrots or Child) = 61 P(Child |@)_y %

P(Adult and Corn) 9751—
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The probability that you win the 100 yard dash at the track

meet is =. The probability that you win the shotput at the
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track meet is % Find the following probability as a percent

to the-mearest hundretth,
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b. Find t[we margin of error to the nearest whole percent.
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c. Find the interval that most likely contains the
population proportion.
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nd the sample proportion to the nearest whole percent.
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